
Yokogawa Electric Corporation

Hybrid  Recorder  DR230
Model   DR232
Model   DR231

Model  DR231

Model  DR232

Copyright Sep. 1996(YK).6th Edition:May.1999(YK)

Parts   List
Maintenance
Customer

CMPL  DR230-01E



2

10
19

17
20

18

9

CMPL  DR230-01E May,1999

11

12

13

16

14

14

21

8

7

6

5

4

3

2

1

15



May.1999

3

CMPL DR230-01E

Bumper4B9850KS

L-Cover Assembly
L-Frame
Display Assembly (/H1)
Display Assembly

Back Panel (not /P6)

Upper Case Assembly

Bottom Cover (not /P6)
R-Frame

Bracket (not /P6)

Foot
Screw
R-Cover Assembly
Door Assembly (see page 8)

11
1
1

1

1

1
1

2

4
4
1
1

B9232BL
B9232BW
B9232DB
B9232DA

B9232BF

B9232BA

B9232BE
B9232BX

B9232BG

A9055ZB
Y9416TY
B9232BQ
B9232CA

13
12

11

10

9

8
7

6

5
4
3
2

1
Description
Chart Cassette Assembly (see page 6)1

Item
B9233JA
Part No. Qty

(select)(see page 9)

1

14
15
16
17
18

19
20
21

B9233FX
B9232AP
   -
B9232CJ
B9232CK

B9790DU
Y9512EB

2
1
1
2
1

1
2

Screw
Name plate
Name plate
Cover (/H5)
Pipe (/H5)

Spring (/H5)
F.H.Screw,M5x12 (/H5)

B9232BS 1 Upper Case Assembly (/H5) (select)

B9232GG 2 Bracket (/P6)
(select)

B9232GE 1 Bottom Cover (/P6)
(select)

B9232GA
B9232GS

1
1

Upper Case Assembly (/P6)
Upper Case Assembly (/H5)(/P6)

B9232GF 1 Back Panel Assembly (/P6)
(select)



4

38

4445

424140

43 47
46

48
49

38
39

37

56

36

35

33

30
29
28
27

2015

17
1

16

14

13

12

19

18

11
21

22 23
25 26

52

54

10

53

55

51

50

2

7

6 3
4
5

9

8

24

31
32

34

CMPL  DR230-01E Sep,1997



Sep.1997

5

CMPL DR230-01E

FDD Board Assembly (with FDD)1B9234WS54
RAM Disk Board Assembly (with FDD)1B9234WT53

Spacer (with FDD)6B9234YE52

(select)
CPU Board Assembly (DR232)1B9234XC

CPU Board Assembly (DR231)B9234XA

(select)

Switch Lever 2
Switch Link
Switch Lever 1
Nut
Carriage Assembly (see page 7)

Gear
Shaft
Gear
Gear
Bushing

Shaft
Shaft
Gear
Gear Holder

11
1
1
1

2
1
1
1
1

1
1
1
1

B9233DT
B9233DW
B9233DR
B9233EM
B9233GA

B9233DL
B9233DQ
B9233DK
B9233DJ
B9233DN

B9233DP
B9233DM
B9233DH
B9233DG

15
14

12
11

10
9
8
7
6

5
4
3
2

1
Description
Sub-Frame Assembly1

Item
B9232EE
Part No. Qty

1

13

16
17
18
19
20

21
22
23
24
25

26
27
28
29
30

31
32
33
34
35

36
37

56

38

39
40
41
42

43
44
45
46

B9233DX
B9233FS
B9233HW
B9905HG
B9905GZ

B9905HA
B9905HC
B9233EA
Y9305LS
B9906EX

Y9305LS
B9233EY
B9905HS
B9233EN
B9900PJ

Y9310LS
B9233EQ
B9234WM
B9234XZ

Y9306LS
B9232WA

Y9308LB

B9232XA

B9232XB
Y9306LB
B9232CM
Y9305LS
B9233FF

B9905HS
B9234WM
B9905HS
B9233FB

1
1
1
1
1

1
1
1
1
1

1
1
2
1
1

1
1
1
1
1

4
1

1

1

1
1
1
2
1

4
1
2
1

Spring
Dust Cap
FPC Guide
Cover Assembly
Sleeve

Spring
Latch
Motor Assembly
B.H.Screw,M3x5
Bracket

B.H.Screw,M3x5
Main Shaft
Pin
Latch
Bearing

B.H.Screw,M3x10
Shaft Assembly
Home Position 1 Assembly
Battery Assembly

B.H.Screw,M3x6
AC Power Assembly (not /P6)

B.H.Screw,M3x8

Inlet Panel Assembly (DR231)(not /P6)

Inlet Panel Assembly (DR232)
B.H.Screw,M3x6
Motor Assembly
B.H.Screw,M3x5
Earth Plate

Pin
Home Position 1 Assembly
Pin
End Sensor Assembly

47

48
49

Y9305LS

B9233FJ
B9233FH

1

1
1

B.H.Screw,M3x5

Shaft
Earth Shaft Guide

50 A1092UN 1 Memory System (with FDD)
51 Y9204LB 3 B.H.Screw,M2.3x4 (with FDD)

55 B9234YF 1 Cable (with FDD)

B9232WE 1 DC Power Assembly (/P6)
(select)



Name Plate1B9233AQ8

Sheet2B9233AW14

Sheet
Stock Cover

Gear
Belt

Shaft
Washer

Bushing
Paper Guide
Platen Assembly
Front Cover

2
1

1
1

1
2

2
1
1
1

B9233JK
B9233JF

B9233JX
B9233JW

B9233JZ
B9905FG

B9233JT
B9233JH
B9233JM
B9233JG

12
11

10
9

7
6

5
4
3

1
Description
Case

2
1

Item
B9233JE
Part No. Qty

13 B9233JJ 1 Chart Cover

15 B9585PM 1 Spring

Chart Cassette Assembly

CMPL DR230-01E

6

12

11

10

4

3

6

9

15
5
7

6

1

14

2

8

5

14

13

Jun.1996



7
Carriage  Assembly

Jan.1998 CMPL  DR230-01E

B9233GC

FPC Clamper
FPC Assembly
Motor Cover

Anguler

SHAFT
Gear

Gear Assembly
Bushing
Motor Assembly

Holder

Cap Screw,M3x8

1
1
1

1

1
1

1
2
1

1

2

B9233GM
B9233GK
B9233GS

B9627GB

B9233GH
B9627FY

B9627FQ
B9627FP
B9233GR

B9627GA

Y9308ZX

12
11

10
9
8

17

7
6

5
4
3

18

19

2
1

Item
B9233GB
Part No. Description

Carriage Assembly1

B9233HA Head Assembly1

Qty

13
14

B9627FK
B9233GN
B9233GP
B9233GQ

2
2
1
1

Pin
Spring
Spring Holder
Lever

16 B9233EX 1 Sub Bearing
Carriage Assembly115

1

8 4 5 6 7 910

14

13

12

3

2

19 17 16 18

15

11

4



Plate2B9232CE4
Knob2B9232CF3
Door1B9232CC

QtyPart No.
B9232CD

Item
1
2

Cover
Description

1

Door Assembly

Apr.1996

8

4 3

2

1

3
4

CMPL DR230-01E



CFL Inverter (/H1)1B9234YA10
Cold Fluo. Lamp Assembly (/H1)1B9628ZN9

QtyPart No.
B9232DD

Item
1 VFD Cover

Description
1

2 B9233KK 1 VFD Filter Sheet
3 B9233KJ 1 VFD Assembly
4 B9233KG 1 Key top
5 B9233KF 1 Knob

6 B9234WC 1 Key Board Assembly
7
8

11
12
13

B9233KN
B9233KQ

B9905PT
B9233KM
B9232DE

1
1

2
1
1

FFC
Wire Assembly (/H1)

Gasket
FPC
VFD Case

CMPL DR230-01E

9

13121011

1

8

6

5

4

9732

Jun.1997

Display Assembly



10

38
39

36

27

30

9

28

22

23

24

14
16

33 18

25

17

32

26

4

2

1

3

5

1931

CMPL  DR230-01E Sep,1997

20

21

6

29
8

7 11
12

13

15

34

10

37

35
34

/P6



CMPL DR230-01EMay.1999

11

DU200-32-B9237EL

DU200-22-B9237EJ

DU200-12-B9237EG

DU200-31-B9237EE

DU200-21-B9237EC

DU200-11-B9237EA

Bushing (DR231)2B9233BX33

Name Plate (DR231)1B9148YA32

(select)

(select)

B.H.Screw,M3x30
Blind Cover Assembly
DT300-21 (/C2)

DT300-11 (/C1)

DU100-32

DU100-22

DU100-12
DT200-21 (/A4)

2
-
-

-

-

-

-
-

Y9330LB
B9236BE
B9240CA

B9240BA

B9237DB

B9237DD

B9237CA
B9239BA

30
29
28

27

26

25

24
23

B.H.Screw,M3x6

B.H.Screw,M3x6
B.H.Screw,M4x6
Tapping Screw
B.H.Screw,M4x8
Warning Name Plate

Tapping Screw (DR232)
B.H.Screw,M4x8 (DR232)
Option Slot Assembly (DR232)
B.H.Screw,M4x6 (DR231)
B.H.Screw,M4x12 (DR231)

B.H.Screw,M3x35 (DR231)

DR Standard Power Module (DR231)
B.H.Screw,M4x16 (DR231)

11
3
2
2
1

1
1
1
2
1

1

1
6

Y9306LK

Y9306LB
Y9406LK
Y9308TS
Y9408LS
A9674ZJ

Y9310TS
Y9408LS
B9232WB
Y9406LK
Y9412LB

Y9335LB

B9236EG
DR DC24V Power Module (DR231)(/P6)1B9236GG

Y9416LB

15

14
13
12
11
10

9
8
7
6
5

4

3
2

1
Description
DR 6slot Base Assembly (DR231)1

Item
B9234PA
Part No. Qty

2
16

17
18

19

20

21

22

B9233AG
B9233AH
Y9406LK
B9900CR

B9237AA

B9237DC

B9237DA

B9239AA

1
1
2
2

-

-

-

-

Name Plate (DR231)
Name Plate (DR232)
B.H.Screw,M4x6
Name Plte (DR232)

DU100-11

DU100-21

DU100-31

DT100-11 (/R1)

31 B9237AQ 2 Screw

34 A1350EF 2 Fuse (Accessory)
35
36
37

38

B9232AG
B9232WD
B9232AJ

A1354EF

1
1
1

1

Name Plate
DC Model AC-DC Board(/P6)
Name Plate(/P6)

Fuse (Accessory)(/P6)
39 A1052EF 1 Fuse Carrier(/P6)



Standard Accessories

(select)

1
Description
Power Supply Code (UL.CSA standard) *1,*2

2
1

Item
A1006WD
Part No. Qty

A1253JZ 1 3P-2P Adapter *1
Power Supply Code (VDE standard) *3

Power Supply Code (BS standard) *4
Power Supply Code (SAA standard) *5

Instruction Manual

1

1
1

2

A1009WD

A1023WD
A1024WD

   -

3
4
5

9

6 A1350EF 1 Fuse T2.5A
7 B9627AZ 1 Cassette Ribbon
8 B9627AY 1 Chart

Fuse (/P6)1A1354EF11

10 A1105JC 1 Cable Connector (/P6)

CMPL DR230_01E

12

1

2

3

4

5

10

11

9

8

7

6

Sep.1997

*1
Note:

DR23   -   -M
*2 DR23   -   -D
*3 DR23   -   -F
*4 DR23   -   -S
*5 DR23   -   -R


